
او ی  اد ب  ا
م  ه  ن  دس  ی ری  اض  ی ت  م  ری  ن  ات دوم س  ری

آوری  د. ب  ه دس  ت را زی  ر م  رزی ش  رای  ط ب  ا ه  م  راه م  ع  ادلات ع  م  وم  ی ج  واب
۱. 𝑢𝑡𝑡 − ۲𝑢𝑡 −𝑢𝑥𝑥 = 𝑥𝑡, ۰ ≤ 𝑥 ≤ 𝜋, 𝑡 ≥ ۰
𝑢(۰, 𝑡) = ۰, 𝑢(𝜋, 𝑡) = ۰

۲. 𝑢𝑡 − ۴𝑢𝑥𝑥 = 𝑥۲𝑡, ۰ ≤ 𝑥 ≤ ۱, 𝑡 ≥ ۰
𝑢𝑥(۰, 𝑡) = 𝑡, 𝑢𝑥(۱, 𝑡) = ۱+ 𝑡

۳. 𝑢𝑡𝑡 +𝑢𝑥𝑥𝑥𝑥 = 𝑥𝑡, ۰ ≤ 𝑥 ≤ 𝜋, 𝑡 ≥ ۰
𝑢𝑥(۰, 𝑡) = ۰, 𝑢𝑥(𝜋, 𝑡) = ۱+ 𝑡, 𝑢𝑥𝑥𝑥(۰, 𝑡) = ۰, 𝑢𝑥𝑥𝑥(𝜋, 𝑡) = ۰

ک  ن  ی  د. ح  ل را زی  ر م  رزی و اول  ی  ه ش  رای  ط ب  ا م  س  ائ  ل
۴. 𝑢𝑡 − ۴𝑢𝑥𝑥𝑡 −𝑢𝑥𝑥 +𝑢 = 𝑥۲𝑡, ۰ ≤ 𝑥 ≤ ۱, 𝑡 ≥ ۰
𝑢(𝑥, ۰) = 𝑥, 𝑢𝑥(۰, 𝑡) = 𝑡, 𝑢𝑥(۱, 𝑡) = ۰

۵. 𝑢𝑡𝑡 − ۴𝑢𝑥𝑥𝑡 −𝑢𝑥𝑥 +𝑢 = 𝑥۲𝑡, ۰ ≤ 𝑥 ≤ ۱, 𝑡 ≥ ۰
𝑢(𝑥, ۰) = 𝑥, 𝑢𝑡(𝑥, ۰) = 𝑥۲, 𝑢(۰, 𝑡) = 𝑡, 𝑢(۱, 𝑡) = ۱

۶. 𝑢𝑡𝑡 +𝑢𝑥𝑥𝑥𝑥 − ۲𝑢𝑥𝑥𝑡𝑡 + ۴𝑢 = 𝑥𝑡, ۰ ≤ 𝑥 ≤ ۱, 𝑡 ≥ ۰
𝑢(𝑥, ۰) = 𝑥, 𝑢𝑡(𝑥, ۰) = ۰,
𝑢(۰, 𝑡) = 𝑡, 𝑢(۱, 𝑡) = ۰, 𝑢𝑥𝑥(۰, 𝑡) = ۰, 𝑢𝑥𝑥(۱, 𝑡) = 𝑡

آوری  د. ب  ه دس  ت را زی  ر م  رزی ش  رای  ط ب  ا ه  م  راه م  ع  ادلات ع  م  وم  ی ج  واب
۷. 𝑢𝑡𝑡 −𝑢𝑥𝑥 +𝑢𝑥𝑡 +𝑢 = 𝑥𝑡, −𝜋 ≤ 𝑥 ≤ 𝜋, 𝑡 ≥ ۰
𝑢(−𝜋, 𝑡) = 𝑢(𝜋, 𝑡) + 𝑡, 𝑢𝑥(−𝜋, 𝑡) = 𝑢𝑥(𝜋, 𝑡) − 𝑡

۸. 𝑢𝑡𝑡 +𝑢𝑥𝑥𝑥𝑥 −𝑢𝑥𝑥𝑡𝑡 + ۴𝑢 = 𝑒𝑥𝑡, −۱ ≤ 𝑥 ≤ ۱, 𝑡 ≥ ۰
𝑢(−۱, 𝑡) = 𝑢(۱, 𝑡) + 𝑡, 𝑢𝑥(−۱, 𝑡) = 𝑢𝑥(۱, 𝑡) − 𝑡,
𝑢𝑥𝑥(−۱, 𝑡) = 𝑢𝑥𝑥(۱, 𝑡) + ۱, 𝑢𝑥𝑥𝑥(−۱, 𝑡) = 𝑢𝑥𝑥𝑥(۱, 𝑡)

ک  ن  ی  د. ح  ل را زی  ر م  رزی و اول  ی  ه ش  رای  ط ب  ا م  س  ائ  ل
۹. 𝑢𝑡 −𝑢𝑥𝑥 + ۴𝑢𝑥𝑡 +𝑢 = 𝑒۲𝑥, −۱ ≤ 𝑥 ≤ ۱, 𝑡 ≥ ۰
𝑢(𝑥, ۰) = 𝑥,
𝑢(−۱, 𝑡) = 𝑒𝑡 +𝑢(۱, 𝑡), 𝑢𝑥(−۱, 𝑡) = 𝑢𝑥(۱, 𝑡)

۱۰. 𝑢𝑡𝑡 −𝑢𝑥𝑥 −𝑢𝑥𝑥𝑡𝑡 +𝑢 = 𝑒𝑡𝑥, −𝜋 ≤ 𝑥 ≤ 𝜋, 𝑡 ≥ ۰
𝑢(𝑥, ۰) = 𝑒𝑥, 𝑢𝑡(𝑥, ۰) = 𝑒−𝑥,
𝑢(−𝜋, 𝑡) = 𝑡 + 𝑢(𝜋, 𝑡), 𝑢𝑥(−𝜋, 𝑡) = 𝑢𝑥(𝜋, 𝑡) + ۱

۱


